
.0Att Citas 

 

Name 

   

CLASSWORK. - Combining Like Terms & Distributive Property 

Combine like terms to simplify each expression. 

1) —4x + 5x 2) 1 + 5v + v — 6 

3) 4n + 4 + 1 + 3n 4) 1 la + 1 la 

5) —2x — 8 — 7x + 2 6) 7v + 6v 

7) —8x — 10x 8) 6 — 7n — 2n — 8 

9) 2k — k 10) —p — 11 + 3 

11) 9n + 3n 12) 12x + 11 — 4 

Use Distributive Property. 

 

13) 3(-7 — 8n) 14) —8(1 + 5m) 

15) 8(r + 1) 16) 8(7x + 8) 

17) 2(6n — 8) 18) —3(8— b) 

19) —5(8v — 2) 20) —2(x — 5) 

21) —(3a — 3) 22) —2(7 — 2n) 

23) —8(5 — 3v) 24) —7(6x — 3) 

First, use Distributive Property, then Combine Llike Terms to simplify each expression. 

25) —n + 4(n + 1) 26) —3(1 — 3x) + 2x 

27) —2(-3k + 4) — 7 28) —3p — (-8 + 4p) 

29) —4 + 6(-4x + 3) 30) 3n + 3(1 + 8n) 

31) —2 + 5(4 + 3r) 32) —1 + 3(m + 4) 

33) —(—n + 2) — 2n 34) —3(5 + 2x) — 7 



Name  

Two-Step Equations 

Solve each equation. 

1) 6= —
a

+2 2) —6 + —
x

= —5 
4 4 

Date  Period  

    

3) 9x — 7 = —7 
4) 0 = 4 + —

n 

5 

6)—i = 
5 + x 

20 6 

v+ 9  
7) —8 

3 

8) 2(n + 5) = —2 

9) —9x + 1 = —80 

     

10) —6 = —
n 

— 10 

    

2 

   

12) 144 = —12(x + 5) 
11)

 

     

4 

   

D A y 



Name  

Multi-Step Equations Date  Period  

Solve each equation. 

1) —20 = —4x — 6x 2) 6 =1 — 2n+5 

3) 8x — 2 = —9 + 7x 4) a+5=-5a+5 

5) 4m — 4 = 4m 6) p —1= 5p + 3p -- 8 

7) 5p— 14 = 8p + 4 8) p— 4 =-9 +p 

9) —8 = —(x + 4) 10) 12 = —4(-6x — 3) 

11) 14 =—(p— 8) 12) —(7 — 4x) = 9 

13) —18 — 6k = 6(1 + 3k) 14) 5n+ 34 = —2(1 — 7n) 

15) 2(4x — 3) — 8 = 4 + 2x 16) 3n-5= —8(6 + 5n) 

17) —(1 + 7x) — 6(-7 — x) = 36 18) —3(4x + 3) + 4(6x + 1) = 43 

19) 24a — 22 = —4(1 — 6a) 20) —5(1 — 5x)+5(-8x— 2) = —4x — 8x 



Name 

One-Step Inequalities Date  Period  

Solve each inequality and graph its solution. 

1) —12 > x — 7 

       

2) —1 + r 4 

                   

411111111111> 

     

-12 -10 -8 
(11111111111> 

-6 

 

-4 

 

-2 -2 -1 0 1 2 3 4 5 6 7 8 

3) n — 6 —14 4) b — 7 < —12 
< 11111111111> -41111-1111111> 

-10 -8 -6 -4 -2 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 

5) a — 17 > —16 6) 15 0 
411111111111> 

-5 -4 -3 -2 -I 0 1 2 3 4 5 -22 -20 -18 -16 -14 -12 

7) 3 + v —9 8) 8 n — 6 
< 11111111111> <11111111111> 

-14 -12 -10 -8 -6 6 7 8 9 10 11 12 13 14 15 16 

9) —3x> 3 
(11111111111) 
-5 -4 -3 -2 -1 (1 1 2 3 4 5 

10) 
3 

3 4 5 
11 1 
6 7 8 

11111> 
9 10 11 12 13 

11) 
4 

  

12) —9x ?_ —90 
4II111111111> 

3 4 5 6 7 8 9 10 11 12 13 

< I I I I 
-24 -22 

1111111> 
-20 -18 -16 -14 

Y 

 



Name 

Two-Step Inequalities Date  Period  

Solve each inequality and graph its solution. 

1) 2x + 4 24 
2) —

m 
— 3 —6 

<11111111111> 3 
3 4 5 6 7 8 9 10 11 12 13 

(11111111111) 
-14 -12 -10 -8 -6 -4 

3) —3(p + 1) —18 

     

4) —4(-4 + > 56 

     

0 1 2 3 4 5 6 7 8 9 10 -14 -12 -10 -8 

 

-6 

 

-4 

5) —b — 2 > 8 

      

6) —4(3 + n) > —32 

                  

<1 1 1 1 
-12 -10 

1 1 
-8 

I 
-6 

1 1 
-4 

1 1) 
-2 

(11111111111> 
1 2 3 4 5 6 7 8 9 10 11 

7) 4 + —
n 

< 6 
3  

           

-2 -1 0 1 2 
(11111111111) 

3 4 5 6 7 8 

8) —3(r — 4) 0 

-4 -3 -2 -1 0 1 2 3 4 5 6 

9) —7 x + 7 —56 10) —3(p — 7) 21 

                  

I 1 

 

II> 
2 3 4 5 6 

-<111•11111111> 
7 8 9 10 11 12 -6 -5 -4 

<1111111 
-3 -2 -1 0 1 2 3 4 

11) —11x— 4 > —15 

      

—9+ a 

    

<11111111111> 

     

12) 

 

>1 
15 

           

-3 -2 -1 0 1 2 3 4 5 6 7 

        

(11111111111> 

     

22 23 24 25 26 27 28 29 30 31 32 



3) (-4, 7), (-6, —4) 

5) (17, —13), (17, 8) 

4) (20, 8), (9, 16) 

6) (19, 3), (20, 3) 

Name  

Finding Slope From Two Points Date  Period  

Find the slope of the line through each pair of points. 
X) 1 

1) (19, —16), (-7, —15) 2) (1, —19), (-2, —7) 

7) (3, 0), (-11, —15) 8) (19, —2), (-11, 10) 



Name  

Finding Slope From an Equation 

Find the slope of each line. 

4 
1) y = — —

5
2 x — 5 2)  

3 

Date  Period  

    

3) y=—x+3 4) y = —4x — 1 

5) 2x — y = 1 6) x+2y=-8 

7) 8x+3y=-9 8) 4x + 5y = —10 

9) x— y=-2 10) 4x — 3y = 9 

Pi4y 



Name  

Multiplying Polynomials Date  Period  

Find each product. 

1) 6v(2v + 3) 2) 7(-5v — 8) 

3) 2x(-2x — 3) 4) —4(v + 1) 

5) (2n + 2)(6n + 1) 6) (4n + 1)(2n + 6) 

7) (x — 3)(6x — 2) 8) (8p — 2)(6p + 2) 

9) (6p + 8)(5p — 8) 10) (3m — 1)(8m + 7) 

11) (2a— 1)(8a — 5) 12) (5n + 6)(5n — 5) 



Kuta Software - Infinite Geometry Name  

The Angle Addition Postulate Date  Period  

   

1) Find mzKLM if mzKLB = 26° 2) Find mZFGH if mzFGB = 105° 
and ritZBLM = 60°. and m.ZBGH = 54°. 

F / 

Nei3,,,

 

Ai 

...(

..3 

  

G 
K L 

   

H 

3) mzGHC = 60° and mzCH/ = 104°. 4) Find mzlifVU if niZZVU= 62° 
Find mzGH/. and mzWVZ = 50°. 

H 

G 

5) mzFMN= 99° and mzLMF = 36°. 
Find mzLMN. 

)\Ai, 

Ai 

6) Find mzWDC if mZEDC = 145° 
and mzEDW= 61°. 

E 

D\ 
L 

7) Find mzJKL if mZSKL = 31° 8) Find mzIHQ if mz/HG = 176° 
and mZJKS = 52°. and mZQHG = 130°. 

I 

H A 

  

    

G; 

9) Find mzKLU if mZULM = 20° 
and mzKLM= 110°. 

10) Find mZIJA if mZAJK = 61° 
and mz/JK = 153°. 



I\ • > 
M N 

11) mzHGF = 16x + 4, mzEGF = 1100, 12) mZVUT= 175°, mzVUJ= 17x — 3, 
and rnzHGE = 3x + 11. Find x. and mZJUT =17x + 8. Find x. 

13) mzFCD = x + 41, mzBCF = x + 78, 14) Find x if mZBJK = 146 + 2x, 
and mzBCD = 95°. Find x. mzIJK = 172°, and mz/JB = 2x + 26. 

15) mZGFZ = 38°, mZZFE = 2x + 125, 16) Find x if TrzzLMN =135°, 
and mzGFE = x + 163. Find x. mzLMV = —1 + 45x, and mzVMN= 23x. 

17) Find mzH/W if mZWIJ =10x, 18) mzABC = 17x + 8, razABK = 42°, 
mzHIJ = 145°, and mZHIW = 2x + 13. and mZKBC =12x — 4. Find mzABC. 

19) mzZHG = llx — 1, mz/HZ = 24°, 20) mzGFN = 4x + 10, mzNFE = 14x + 3, 
and mZIHG =12x + 13. Find mZIHG. and mzGFE = 157°. Find InZAIFE. 
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